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MDE/J-21 4695
BUSINESS STATISTICS
MC-206
Time : Three Hours] [Maximum Marks : 80

Note : Attempt Five questions in all. Q. No. 1 is compulsory.
Every sub-part of question no. 1 is of 4 marks. All
other questions are of 14 marks each.
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1. (1) How is the reliability of an estimate ensured ?
Th e Wi favaEdtaal sy gHfvEa i S
g2

(i) What are the regression coefficient involved in a
problem of multiple regression ?
TRl JAwmE o g9en § Ffed gdrame o
T § 2
(i) Explain briefly splicing and deflating.
foremsfim qen fewaifen w1 wfqw avf wifsT |
(iv) Distinguish between fixed base and chain base
methods of index number construction.

gaskler Taior s R emar faftel dur geren
R faftl § s w= wifvm
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(v) How would you isolate seasonal variation in time
series ?
we AfrEl A A A w1 oemn w9 gem
HA ?

(vi) State the conditions under which binomial

probability distribution is appropriate.
31 M 1 auiA wifay fomes st fgug wifaesar
faq 3fed @ @ |

2. Explain the significance of multiple regression and

correlation analysis in understanding a business problem.
Explain by a taking a hypothetical example.

IR THAH bl GHSH H ThIEeh YAWE- el Teddy
foveroo 1 AT FAREU | Uh SYheUAHe SR Higd
U HINT |

3. You are given below the following informations about

advertisements expenditure and sales :

Adv. Exp. (X) Sales (Y)

(Rs. crores) (Rs. crore)
Mean 20 120
SD. 5 25

Correlation coefficient : 0.8

(1) Calculate two regression equations.

(i)  Find the likely sales when advertisement expenditure
is Rs. 25 crores.

(iii) What should be the advertisement budget if the
company wants to attain sales target of Rs. 150

crores ?
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HIE 20 120
EIECRCE ] 5 25
HEgay Toneh ;0.8
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(i) wE fow! 9@ =INL 99 foam@ =23 25 w08
T %
(iii) Toamom s @ g =ifen, AR HEET 150 S

% B TGl &N GRd § 2

4. What is Partial Correlation ? Under what circumstances it
is preferred to the total correlation ?
fifyreh wegay @ g 2 T uRiftufeal = ofawia 7@ =
gy Tg T 2
5. (a) The sub-group indices of the consumer price index
number for urban employees of an industrial centre

for a particular year (with base 2010 = 100) were :

Food 200
Clothing 130
Fuel and Lighting 120
House Rent 150
Miscellaneous 140
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(b)
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The weights are 60, 8, 7, 10 and 15 respectively. It
is proposed to fix dearness allowance in such a
way so as to compensate fully the rise in the price
of food and house rent.

What should be the dearness allowance expressed
as a percentage of wage ?

s foniy o & fou siiifes s T wdEd
% fou SudleRT oA YEhih % SUHHE IR
(3MEr 2010 = 100 wfed) o

GIEE] 200
LK 130
U AT TRWI 120
EEIEERCTE 150
fafay 140

I HEY: 60, 8, 7, 10 @1 15 B | WEWME W I
W OWE ¥ T B H TEE g R AeE iR
"R & fed § gfg o g0 WO H S Eh |
o % WovW % €9 H e TR S ATl
TR A @ Bl WifeT 2

Explain the procedure that you would adopt in

constructing an Index of Industrial production.

39 giewa w1 vl wife o ey Sefies Sored
% fmf ok gEwe H ST E |
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6. Explain the method of moving average for the
determination of trend in a time series data. What are its
merits and demerits ?

T HwE A s A yaf & fruRon % fou smd st
1 fafer =t oI SIS | 9SO qen S F 2 2

7. (a) State and discuss the addition and multiplication
theorems of probability for two mutually exclusive

events.

3 UREfe oTyast weAteti & faw wifteear & A
AR UF THA 1 Seel@ ST ql U RN |
(b) Explain Bayes theorem and bring out its importance
in probability theory.
S WHA ! Al HifL qel Wifekal fagia H
TH TE™ H gUF wifem |
8. What is a standard normal distribution ? Discuss the
importance of normal distribution in business decision
making.
e T faa #& ? 2 R folg § gme faa
® Tew™ & U HiNT |
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